5% =qa, 70 =49
Da=25b=1 @ a=25 b=2
@ a=125 b=1 @ a=125b=2

® a=125 b=3



2. Th F 13 A7 AATE R e S 0k g AR

7, 12, 15, 19, 23, 38, 45, 81

@ gt} @ 170 ® 374 @ 5 7} ® 6 7}



3. F 4 24x5t, 23x5mx7 9 HEde 228 x 53 A w, m 9 3he?

D 1 ® 2 3 3 @ 4 B 5



2237 72 o o,
2R3 270)

@ 72 ® 104

= A
T T

o up

@ 144

% 200 B} zhe

® 180

o



ol

ol

oT
!

—

Al 4= 30,60, 80 o 2 ol

5.

® 5 B 7 @® 10 ®B 17

@D 3



6.

Al ZHA4= 16, 24, 48 o] FHl F Al A Ad e 2
Fstofet.

B gl



6xx, 8xx, 10x x 9 HAZu5=7}F 720 o]=t
A7} (%, « & @ Ajelo] Aadolrt)

@D 6 Q7 ® 8 @ 9

o

nst

rlo



3671,
o

™
=

Az gted Eote & FUvH] A, B 5Y = 4
607Holct. E1lute] A7} gk W 5| Hsk=t] 7Ho] Adcky
EU7L 22 oo Ag o wEel i 1 A5t
F917] Faoe},

SR
=%

0 %

ko
M r

M
i



9.

6 0= Lhedl 5 /b,
Al A2 o] A4 % 7}

@D 901 ® 941

3) 959

@ 935

3 999



S Al AFAS= 29 x b, 22 x 3P x ¢, 22 x 32 o] FH-FF
HH =540 € W, a+ b+ c O G2

@ 8 ® 9 @ 10 ® 11

J:
T



11.



12. 4322 Q% x 2 Lhro] of@ d4o] Algo] S steln gt
The % x O groz e gre ALY

@D 3 ® 6 3 12 @ 27 B) 48



=
K}

142312 olg5te] 50 o of40] A4 Fotel ek the
gure g Az T

o 9
T_._

50 =2¢x 50 O N (a+ 1) x (b+1) =c (F)

D 1,2,3 @ 1,2,6 ® 2,4,8 ® 2,5,8 ® 3,4,5



14. o-SoA 350 I A 249 5 B5F Zatet

@ 21 © 46 ® 9 ® 23 @ 25
® 169

a=
o









17.

1,2, 3,4,5,6, 79 &2 7tEE AHEl THE Al 2H2] 9
o, 9 o] v F 71 2 48 oot

e =
c



@ 12 &gl

<

JwNO
ol
ol
Ho

of

<
R

tol a5 9 Afolct,

S

@ 20 ]



B 72 @ 160 B 98

@ 60

@D 144



of thsted B & Higr2?

@ 8 ® 14



